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Novte — Qﬁest’ion NQ. 1 is .co;fnpulsory, .;Attne'n-lpt. any four

questions from the remaining questions. All questions
. carry equal marks. -
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1. | .“Socio-logy is not a natural s'cie'nce'k.:‘ut a social s‘cience.”
Discuss the nature of Soéiology on the basis of this.
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“We belong to Associations but not to Institutions.” Discuss .

the. state mént
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: “Marriage as an.instituticin has evolved from a proniiscuous
stages of social relationship.” Discuss.
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“S‘(.)cial stratification is both inevitable and .fLinctioxially
necessai‘y in human SOCiety.;” Discuss.
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According to Max Weber, ‘Class’ and ‘Stétus’. ajc'e' two

'different dimensions of power. Discuss.
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Education is often viewed' as an Agency of Social change.-

However, in reality it could also reinforce inequalities

and conservatism. Discuss.
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Examine the relationship among production, technology

and society.
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Bring out the rélationship between India’s population

.problem and economic development.
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